S A AA'B'C = N

AABC & 2Hjigt Zloj}, & 4t A

7go] ot ez & A T

.%? n Yol o) fa
D U D \W/

O AB:A'B'=2:1 @ /A =2/A

® AC:A'C' =BC:B'C’ @ AABC =2AA'B'CY

® AABC: AA'B'C'=1:3




,_._m.o

o2 Fstelet.



2 18 AAPHA V- ABC oA Z2te] &
2D, E FE A= gHo=E Zeidll Aol
th AABC 9] Hol7F 48cm? 4w, AFZHET) o]
AElo]E Aotoizt

o L



t}S oA DE : EA =DF :FB=CG :GB ¢ 1}, /BDC 9
A7|E Fotot.




e a"AAd A HAZH

= e
o0

ABCD, GAEH,EBFH 7}
2 uj, BF | Zolg Fafolat

7}
=

i

Q.

2

~-39cm- _

A - ~.D
\
\
v

E H 2'60m
1
C




® OB'F'G'C’
@)
OA'B'F'E’
® OEF'GH

@ OC'D'H'G
®
OA'E'H'D’



AABC ¢ AA'B'C o o -
B'C7h 52 9171 9ok Heel FAHL?
= .



o}

A

S 9|4 OABCD o OPQRSO|th the F 22 A2 2
29

ru

H7]
O F2H=3:2 © /P =120°
© AD:PQ=14:3 @ £Q="75°
— 16
@ P =3
ONW) ® 6, ® 0,0,0

@ 0,0,8,0 ® 0,0,6,8,8



th5 194 BC//DE & o, v 5 A ¥

A
D/ > E
F
B > C
G
® AD:DB - A : BiC @ DF:BG — AF : AC
DF  BG AB FE
- @ 22 =
s DB~ GC
AF AE
®

AG AC



10.

OABCD ¢t OEFGH+= ®=29] 917l 3ot DABCD = 7122} A= 2]
017} 217t 5em, 6em Q1 ZAHZFE )3, JABCD ¢ DEFGH <]
5471 3: 59 o, OEFGH 9] £ 9] Zo]&?

A F
4cm / 8cm
\ E
B\\I on :
C 1\20m\_<_._ /90m
D
25 55 110
@ 3o ©) 3 om ® —-om
150 220
@ ——cm ® —cm



11.

ot 184 AB = 12cm , AD = 9cm , AC = 10cm,
x 9] T2 aofl skl YeRHH?

@ 3a @ — ®

BC = 6cm

® 2a

=2

m,



At waol

o
=

ohe Y e 4

12.

<k
m

o] A 27t

2]
2y

|

@ 3

O 2



o] % ARz} A, B hol obeh L} o] 27]9} mope]
e A1 ), 2 720 Beolrt 30 U u), B AR &

=9 Z4HolE a ol ¥sto] Yepfid?

@ -a @ 2a ® 4a @ 6a G Za



14. ofe 173 22 YBLS Vo] PAYT AR BHo| 3FE HEE
A3t} hed] o) 27} 28em® L wf, W ofeio] Qi Qo)
5§38 F5h9?

2

@ 60cm?® @ 64cm?® ® 68cm? @ 72cm?® ® T76cm?






16.

the 1¥ellAl AABC &= AB = AC =25 ¢l °]59¥4ZHg o] ED +=
AABC °] ¥ AC £ 3:2 & W & A D o4 BC o F3sHA 1
AEoltt, /DEC = /DEF 7} =2 AC o]l HF & F& 1|, F
dolE st



17.

m\‘kfl:“.:-ﬁl

N oo

mlﬂl tlj 2o

1%%

BD

BE 9|
:ll

m{m

F_]
o

T

ot

AB =24 ,BC=32

, BD = 40 <1 FA}ZH ABCD ©)| 4]

Aoz st H C7HE A 25 2 Zolth AD

A
q P o4 BD o =
2},

sl & Qe PQ 9




18.

o 199 AABC & £C = 90° 91 AZ47go] il AM = BM
ABLCD ,DEIMC,AB=15,AC=9,BC=12 < 1, DE ¢] Zo]=
Tstolat

>



19. & 994 LFDC = /FBC=90°, AF =15 ,DF =9 ,FB=5,
CD =13 € W, AABC 9] Yol& 5oz}
A




20.




S20] 1:25000 1 A XA A7} 20cm Q1 F AF Atol& AHAAE

A% 15km ©] o FBHE b Aol AHS Fatelt

21. =4
=]



/A 7} A Zrolth

15|
EHO

7.2

12 Fotolat (2 AB =3,




23. o J%9 AABC 9|4 /BAE = ZCBF = ZACD , AB = 12em ,
BO = 100m , OF = sem & 1, 2 9] gre?




24. g 293} 2ol £B =90° Q1 A2 ABC ol AB:BC=3:2 ¢
o], AD: CD £ Z}Z+ gt o2 sl= ZAFZHS ADFE ¢F DCGF 9




aHa g
1=
L
=HdEE

BC =10, AC =13 ¢l AABC °JlA ZA 2
D 2} 5t27, AB 9ol ZADE = ZACB 7}
o, ABDE = AADE 2] 2 #j)1%] Ftc}ofzt,




